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Q1

Q2

Q3

SECTION - 1

As per 73" constitutional amendment, Ql

what is the prescribed minimum age
to be chosen as a member of
Panchayat?

(A) 28 years

(B) 25 years

(C) 23 years

(D) 21 years

Which of the following schedules of Q2

the Constitution of India contains

details of Union, State and
Concurrent lists?
(A) Sixth

(B)  Seventh

~(C) Fifth

(D)  Third
Which article of the
Constitution states that 'the State shall

not deny to any person e'quality

. before the law or the equal protection

of the laws within the territory of
India?'

(A) Article 17

(B) Article 14

" (C)  Article 15

(D) Article 20

Indian Q3

I - 1
73% Afeosa AT © weAg, Ugfes
Aag =6 B8 fagggs we uwe
g fdat 37

(A) 28HS
(B) 25
(C) 23FA®
(D) 217

It fefawt &5 93t Afeas &
fan waaot ffg AW, Iw 3

mﬁaﬁéﬁnﬁ?mmm

A =24

() W3

() umet

(D) St

I33t Afeas T fagz wigee feg

afder 3 fa 7 I§a AoHE far @
fonadt § mssr 3 fesag &t
S3ar 7 99z @ far & 2w R

F55" T AHG3T € Sfemir I39m?
(A) nEexT 17
(B) WEST 14
(C) MWEeT 15
(D) WEET 20
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Q4 Who among the following was Q4 fugt &S fan § foafesumamrinzt

elected as the President of India &% I'I3 T ITTHSIUIT gfewr famr
unopposed / unanimously? H?
(A) Dr. Zakir Hussain (A) 3. afag gRs
(B) VV Giri (B) .3 fordt
(C) N Sanjeeva Reddy . (C) W& ArleIFH
(D) Dr. APJ Abdul Kalam (D) 3. BALA. wEES TH

Q5  The time gap between two sessions of Q5  HAT © © RAS fegard AW wi3T®

the Parliament CANNOT be more 3 € &dt I AdeT I
than:

o (A) fEFHAS

- (A) one month
(B) T HIS

(B) two months
(C)  three months © f35 1S
(D) six months (D) BHI&

Q6  Which of the following union Q6 ﬁgﬁ%ﬁﬁa@mtﬁnﬁa

territories has the Lieutenant- @U-gAUS  (Lieutenant-Governor)
Governor as its administrative head? ferer YA Wt 37
. (A) Delhi @) &S
(B) Chandigarh (8) ©INIF
(C) Lakshadweep | (C) TaHEIY
. (D) Dadra and Nagar Haveli (D) TEI W3 &I S

#
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Q7 -~ Which festival in Punjab ()7
commemorates the renowned

GuggaPir or ‘Snake God’?
(A)  Chhapar Mela
(B) Jor Mela

| (C) Bathinda Virasat Mela
(D)  Roshni Da mela

Q8 + Which fort is also known as Bathinda ()8
fort?

(A) Maharaja Ranjit Singh Fort
(B) Qila Mubarak
(C) Phillaur Fort

(D) Bahadurgarh Fort

Q9 . When was Mahatma Gandhi Sarbat Q9
Vikas Yojna launched in Punjab,
which was implemented in state's

rural areas?

(A) 2015
(B) 2011
(C) 2018
(D) 2021

QP2-BB/31584

e T fagz 3899 HAga
emiis 7 w9 83" § miafu3
&7

(A) BUIHTT

(B) wHIFAT
(c) =fé3 feams AT
(D) IS T AT

faog fagr afésr @ fag = &
Ao Jer 32

(A)  HIIH FEAI3 iy faegr
(B) fag Hagq
c)y feBafagr

(D) HITIIF fagr

Uiy f&g Ha 3w Iral A9 3 fear
e 9 Jg i3t e A, 7 9 ©

U3 939 R g it 9t At
(A) 2015
(B) 2011
(C) 2018
(D) 2021
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(Page 3)



Q10 Which of the following diseases is Q10 J& fefawt f&T fagz Jar milst Wis

. caused by high fluoride concentration T8 yFt g €9 <8983 AuEs
in ground drinking water? TIs Jer d?
(A) Fluorosis (A)  SBIfAA (Fluorosis)
(B) Botulism (B) =CIBHH (Botulism)
(C) Giardia (c) frmrafamr (Giardia)
(D)  Amoebiasis (D)  wHIfEMITHA (Amoebiasis)

Q11 The Second Sikh War (against the Q11 ea fiy wa (fgfenm e fego) ’M‘Q‘H

' British) began with the revolt of 1848 fSg e JeIag
Dewan Mulraj, the governor of des yeaH © feeda &8 Wdg
, in April 1848. Jfenr At
(A) Lahore ' (A) BII
* (B) Rawalpindi (8) I=sfis
(C) Multan (C) HBIS
(D) Jalandhar (D) TSI

Q12‘ In which year was the University of Q12 fau3 ww® ffg Uiy uwdleafAd

Punjab found? (University of Punjab) T HEUST
(A) 1857 R
(A) 1857
., Sl (B) 1882
) 1919 -
(D) 1946 (D) 1946

M
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QI3 Sprinkler irrigation system is also QI3 fa@gam™f (Sprinkler) fiTE YyEst &

known as . S fggrAaerdl

(A)  Border strip irrigation (A) =939 Afey fige
(B)  Subsurface irrigation () WH-AJeH fHoEl
(C)  Drip irrigation € Iy fiiwd

(D) Overhead irrigation (D) 6=ad3 fifTd

Q14 In which method seeds are Q14 fan fedt fég =i & aIw © f&a

germinated on top of one or more 7 fen 3 <0 ygst @ GUg UIgs
layers of paper which are placed fégr 7er 3 fagt § & 3 &t
either in enclosed transparent petri ygegr dedt fsu At safimr &g
dishes or boxes and are kept in an Ifemyr wier 3, w3 fEa fesfagaes
incubator or germinator? 7 ASHidea &g Jfemr wer 7

A I3 8 Udes fedt

(A) Germination in sand method

(B)
(B)  Germination in soil method

(©)
(C) Between paper method

(D)

(D) Top paper method

(Germination in sand method)
firct fég Jags fedi
(Germination in soil method)

g9 fegarg fedt (Between
paper method)

9 Gug fedt (Top paper
method)
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Q15 COVIRAP technology launched by Q15

Q16

Q17

IIT Kharagpur will be wused for

E Disinfecting medical gloves

II. Diagnosis of covid-19

(A) Onlyl

(B) OnlylII

(C) BothIandlIIl
(D) Neither I nor II

Where was the ‘International Film Q16

Festival of India 2020 hosted?

(A) Bihar

(B) Tamil Nadu
(C) Goa

(D) Odisha

Backbone of Punjab’s economy is

(A) tourism
(B) agriculture
(C) trade

(D) industries

Q17

T HIIYI TS Bg di3t Ird

COVIRAP 3d&l T __ &

I3 A3t Al

. ASESs TAIS JrE Ha3
CE)

n.  3Ifes-19e fovs

(A) fAgel

(8) fAgZ Il

€ 1m3ne

(D) & 3F1& Tl

II3 T wigggwed fevH €3A<

2020 T AEES! faa I

A fagg

B) 3ShHEag

(C) I

(D) G3mr

______\ivg € woa-feerer € JiF

@ I3t 3

(A) RI-AUe

(8) u3t ==t

() =ug

(D) GTHA
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Q18 Which constitutional amendment Q18 fagdt Afeasa Ao & fAfuwr @

established the ‘right to education’ as wifrarg § & gfeme! wiftarg =
a fundamental right? AYYI d13™

(A) 61 constitutional amendment (A) 617 Afeasa Ag

(B) 73" constitutional amendment (B) 73% Afegsa A

(C) 86" constitutional amendment (c) 86% Afeusa RO

(D)  91% constitutional amendment ) 919 Afeursa AT

Q19 Which of the following is an example Q19 I fEfaw T faodt ufost 53t @

of a 1% order lever? dieg @ geags

(A) See-saw (A) H'?-W(g's")

(B)  Nutcracker (B) ?’E-QEEI

(C)  Door C) TITH

(D)  Sugar tongs (D) TS 2JTH

Q20 A Zila Parishad comprises: Q20 frAgr ufgme <o

(A) all the Pradhan of a Panchayat HHE I I
Samiti (A) o3 AWSt @ A yus

(B)  one-third of the Pradhan of a (8) Jofez A3t @ Yo' T fEa-
Panchayat Samiti fagmst fanr

(C)  two-thirds of the Pradhan of a (c) Jofes An3t 2 yost T e
Panchayat Samiti fagmst fanr

(D) three-fourths of the Pradhan of (D) Jgfezs A3t @ Yoot ©
a Panchayat Samiti St famr

QP2-BB/31584 (Page 7)



Q21

Q22

Q23

Which is the longest river that flows (21

through Punjab?
(A)  Sutlej

(B) Ravi

(C) Beas

(D) Chenab

According to 2011 census, what is the (22

Urban Population percent of Punjab?
(A) 24.10%
B) 27.65%
(C) 31.24%

(D) 37.49%

Which of the following articles of the (23

Constitution of India discusses the
procedure for the amendment of the

Constitution?

(A) Article 368
(B) Article 370
(C) Article 360

(D) Article 310

73 3 85t et faodt 3, 7 uay 9
YTt I7?

(A) H3EHA
(B) I=
(c) femrA
(D) W&

AS 2011 T HITHEHIDI © WSH'T,
Urare € Afgdt warel yFias 68t
?

(A)  24.10%
(B)  27.65%
(C)  31.24%

(D)  37.49%

93 ¢ Afeds © fegt wigae &9
faoz rAfeas fSg Au & feit 3
999" dge 97

(A) WESeT 368

(B) WgevT 370

(C) WgEeT 360

(D) WgsT 310

——————————————————————
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Q24 Particle of light is called: Q24 YIH T JE § At AfJe I&?

(A) Photon A) 25
(B) Electron B) fEdags
(C) Neutron © fs83s
(D) Proton D) s

Q25 What is the capital of Punjab after the Q25 1966 3 =EwE Uag T IwATS!

year 19662 faast 37

(A)  Chandigarh (A) TINTF
(B) Patiala (B) ufenwrsr
(C)  Anmritsar | () ifizna
(D) Ludhiana (D) Bfomre

Q26 Who initiated Triveni, which is a Q26 f3R& € mgw3 faws =5t A

form of Hindi/Urdu poetry? fdSugag afes e gu ?
(A) Gulzar (A) ISAT

(B)  Amrita Pritam () whiE ey

(C) Rajinder Singh Bedi () Ifiea fiw S
(D) Nanak Singh (D) & iy

QP2-BB/31584 (Page 9)



Q27

Q28

Q29

Which Gurudwara is popular by the Q27

name of Golden Temple?

(A) Baba Atal Sahib

(B) Harmandir Sahib

(C) Takht Sri Damdama Sahib

(D)  Sri Akal Takht

What are the animals of animal Q28
kingdom that possess backbone?

(A) Protozoa

(B) Bryozoans

(C) Vertebrates

(D)  Arthropoda

is celebrated in martyrdom (29

of two younger sons of Guru Gobind

Singh Ji, Sahibzada Zorawar Singh
and Fateh Singh.

(A) Rakshabandhan

(B) Baisakhi

(C)  Guruparab

(D) Jor Mela

fagg JgewaT ASIs Hiead © &H
&8 HAgS 37

(A) = WIS Afo"

(8) Ifpifea arfas

(C) 3IHI It eHeH Afad

(D) i wa® 33 Afo"

Ut 7er3 o fao? yet Sty & I3t
T WS I&?

(A) YT (Protozoa)

(B) ferwWaH (Bryozoans)

(C) <ISIEITH (Vertebrates)

(D) WIEIUS" (Arthropoda)

i Tg difde fiw @ @ 2 e

w3 g3fy fifw @ Bt @ wre e
He e FeT I

(A) IEEEHTS

(B) femmt

(C) dFUgH

(D) HIAT

#
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Q30 Who among the following leaders is Q30 J& &3 wramw & fam § ~iw=

Q31

Q32

also known as “Punjab Kesari”?
(A)  Vipin Chander Pal

(B) LalaLajpat Rai

(C) Bal Gangadhar Tilak

(D) Rabindra Nath Tagore

Who is the first Sikh guru and the one Q31

who founded the Sikh faith? -

(A)  Shri Guru Nanak Dev Ji

(B)  Shri Guru Ram Das Ji

(C)  Shri Guru Har Gobind Sahib

(D)  Shri Guru Har Krishan Sahib

Which rock is formed by the slow (32

cooling of molten magma beneath

(deep) the surface?

(A) Sedimentary rock
(B) Igneous rock

(C)  Metamorphic rock

(D) Dynamo Metamorphic rock

AT = & Ffewr AeT 37
(A feusdegus

(B) TV BHUI IE

() =8 Jierug 38

(D) Ifdeg " &g

fiut e ufgs 91g a= I fand Ay
OgH & AgUST d1317?

(A) I FEITTH
(B) TIAIIHEHTA
(€) Tt g IgdifeT wrfow

D) g I3 foms Arfos

faodt g A3T € I (FuwE 3)
@ e @ J81-J8! 88 JF 95
geot 37

(A) IV TS
(B) WAISIHE3 BT
(c) gu3fgzdges

(D) Ffear Reigfea gea

QP2-BB/31584
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Q33 Hornbill ~ Festival, 2020  was Q33 2020 © JI&fa® @3IAT (Hornbill

celebrated in which state of India? Festival), 393 © fan I+w <9
H&TemT famr #i?

(A) Uttar Pradesh
(A) E3TyeH

(B) Maharashtra
(B) HJ'IHII

(C) Nagaland ©) IS

(D) Kerala (D) dIB

Q34 North east of Punjab consist of Q34 JYA=ge €33 uggfea |

(A) faefesas yaoz Is

(A)  Shivalik mountains

B) forHedt ygz I5
foHos Yoz 95

(B) Himadri mountains
(C)  Himachal mountains (©)

(D) Karakoram range (D) FIAIH UIHI H'S" 3

Q35 For which of the following Q35 fegt f&& fam a9n =€, fend

applications, ISRO has launched (ISRO) & T©HEJ 2020 f&9 CMS-01
CMS-01 satellite in December 2020? AgEie g d13T 37

L Traffic Management - I fex yHus

II. Communication Il. Y9

(A) Onlyl A fAaszl

(B) OnlyII B) fAg=

(C) BothlIandII € I1m3e

(D)  Neither I nor II (D) & IIadI

———————————————————————— S S
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Q36

LANUMBER OF KILOMETERS) |

SECTION -2

Following frequency polygon
represents  distance travelled in
Kilometres on Y axis in various

months of a year on X axis by

months.
1208
000 .~
800
600
380 30
JANUARY  FEBRUARY MARCH APRIL MAY JUNE

(MONTHS)

Which is the average distance (in
kilometres) travelled by the person in

all the months?

(A) 750
(B) 700
(C) 800
(D) 900

Q36

(NUMBER OF KILOMETERS)

gl - 2
foHsfafys adag3™ 5g3d AS ©
Yy  Hdlfewr fEg 3w it w3a
& Y et 3 faditest Idi w3 x gat
3 HIlfent Irdl eanrger 31

140
1260

PE, 1 I —

1000 )
8CC

800
.. 600

60C

200

¢
JANUARY ~ FEBRUARY  MARCH APRL MaY JUNE

{(MONTHS)

fowa3t enrgr A3 Halfanw &g 3w
1St wr3gr € wiAz gat (fadhitest
f&g) fdat 32

(A) 750

(B) 700

(C) 800

(D) 900

———_—__—_ﬁ
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Q37 Two-third students of a class were Q37 f8@a AWz & T-f3gd fefenwrgsHt

Q38

Q39

present and it was 72. If % of the class

are girls, then the total number of

girls are:
(A) 108
(B) 18
(C) 36
D) 90

If the product of  and x is = , then Q38

28

reciprocal of ‘x’ is:

a) 2
®) =
© 2
D) =

A car covers a distance of 83.7 km in Q39

2.7 hours. The average distance

covered by it in 2 hours is:

(A) 55km
(B) 45km
(C) 62km
(D) 31km

IHg As w3 fag Aftwr 72 A A
M3 g - g Jg, 3F gl &

a5 Aftpyr fdast 32
(A) 108

() 18

(C) 36

(D) 90

A2 w3 xTPEBe® 23, T w T

v it 7

@ 2
® =
© =
©®

féa arg 2.7 wfew 39 83.7 km Tt
3w et 3| form W 2 vifew' T

3w St WAz gt fdat 37
(A) 55 km
(B) 45 km
(C) 62km
(D) 31km

ﬁ
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Q40 The given bar graph represents the Q40 &3 famr g9 ITE A'S 2004-2010

exports of three companies X, Y and
Z during the years 2004-2010. Study

the graph carefully and answer the

question that follows.

T 35 dudh X, Yy w3 z @
fsgurs § ToA@er d IS ©
wimls a3 w3 Jds° €3 yms ©
€339 febi

Exports of three

100

companies (in X Crores)

80
60
40
20

2004 2005 2006 2007 2008 2009 2010

X
BY

Wz

In which of the following years were

the exports made by company

exactly equal to the average exports

made by it over the given years?

(A) 2004
(B) 2005
(C) 2006
(D) 2007

fis duas e faaws (33T

100
80
60 uX
40 my
20 mz
0

2004 2005 2006 2007 2008 2009 2010

It 3 ST faa3 As Just 'z
g i3t fomr fagurs, &3

g fég fere owar i3 e WiAs
foaws @ sg9=a &7

(A) 2004

(B) 2005

(C) 2006

(D) 2007

ﬁ
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Q41 The mean of 6 observations was 192. Q41 6 fadyst & HoHs 192 Hil

Q42

One of the observations was
incorrectly recorded as 162 instead of

126. What is the correct mean of the

observations?
(A) 173
(B) 156
(C) 186
(D) 168

Two numbers are 25% and 40% more (42

than a third number. What is the ratio

of these two numbers?

(A) 25:28
(B) 28:25
(C) 5:8
D) 8:5

fodhret fod f6a § I8 &% 126
© =gafe 162 fogaraz i3 famri

fedtus e At Hon's &t 37
(A) 173
(B) 156
(C) 186
(D) 168

T Hftpyrer I Afunr 3 25% w3
40% <0 I&| fegst © Afuwre &
wEUS ot 372

(A) 25:28
(B) 28:25
(C) 5:8
(D) 8:5

_—_ﬁ
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Q43 A man took a loan from a bank at the (43

Q44

rate of 15% p.a. simple interest. After
2 years he had to pay ¥ 3000 interest
only for the period. The principal

amount borrowed by him was:

(A) % 15000
(B) % 10000
(C) 30000
(D) T 45000

Amit can do a work in 20 days and
Barun can do the work in 30 days. If
they work on it together for 6 days,
then the fraction of the work that is

left is:

A) 12
(B) 1/4
C) 153
D) 1/6

far wedt & 15% A®& AgdE
fenrd € ©9 '3 89 3 §ug o
2 A8t gie GRé frge fime st
Z 3000 fewra & wetfedl JIat ud
Al €A ©owgr @ug fawr famr
H&US U3 331

(A) % 15000
(8) 10000
(C) % 30000
(D) 45000

wiHg f8a an § 20 fost ff9 a9
Aaer 3 w3 596 @R I § 30 fea
fég a9 Aaer J1 7 €9 6 fea' 38
feRIH B I aTR T5, I AN T

fdaT foA™ gv<l g9 A<am?
(A) 12
(B) 14
(c) 13
(D) 16

_———ﬁ
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Q45 The value of 25.5 + 0.255 + 2.55 + Q45  25.5 + 0.255 + 2.55 + 0.0255 + 255
0.0255 + 2565 is: T NS ot 32

(A) 283.56
(A)  283.56

(B) 283.5855
(B)  283.5855

(C) 283.305
(C)  283.305

(D) 283.3305
(D)  283.3305

Q46 The selling price of 10 pencils is Q46 10 UsfAs & feadt &H3, 15

equal to the cost price of 15 pencils. dsfst € g3 dH3 © 593 I
Then, the loss or gain percentage is: I g8 A B T YFE3 u3T 33|
(A)  50% loss : (A)  50% TS

(B) 50% gain (B) 50% 83

(C)  25% loss | (C) 25% T&t

(D) 25% gain (D) 25% 83T

#
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Q47 The given line graph shows the (47
number of patients cured in a hospital
over the years 2008 to 2014. Study
the line graph and answer the

question that follows.

L, 100 85 .
€ 80 , L 5
9 55 ' e g
e 60 40 : o
30 o
s 4
S 40 g g
s 2 2
E o €
prd prd

2008 2009 2010 2011 2012 2013 2014

year

The increase in the percentage of

cured patients from 2013 to 2014 is

approximately:
(A)  30%
B)  29%
(C) 40%
(D) 41%

Q48 How many 3-digit numbers can be (48
formed with the digits 1, 2, 3,4 and 5
which are divisible by 5 and in which

the digits are not repeated?

(A) 24
B) o6
©) 12
(D) 8

fégr Jdfewr Jur I9e ffa TAU3S
fég A& 2008 3 2014 &9 Jia I
Hotmr @ farest egwger 91 Swr
e T wfms a3 W3 yrs T
€339 fe6l

100 85

80 70

55 /7 N\

60 40 ‘ ; 5’0 ;
5o 30 ;
20

0

15

2008 2009 2010 2011 2012 2013 2014

year

2013 F 2014 ©I® B JT TB

HIW* & YSassr <o s fda
T Jfemr?

(A)  30%

(B)  29%

(C)  40%

(D) 41%

1, 2, 3, 4 M3 5 W& & 3-waT el
Aaer 9 1 5 &8 IOU 96 fAIs

fé&g nia Tgae &' A7
(A) 24

(B) 6

() 12

(D) 8

_————ﬁ
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Q49 A sum invested at 4% per annum Q49 feq fo2H i3t IAH 4% AT
AOIs fewrd 3 3 st g fenrd
2 gu f&g 7 1,920 ag<t 3| fssm

simple interest yields an interest of ¥

1,920 after 3 years. What is the sum

invested?

(A) % 18,000
(B) % 12,000
(C) % 16,000
(D) % 19,200

Q50 The number of students present in a Q50
class during a week are shown in the
given bar graph. Study the bar graph

and answer the question that follows.

200
150

100 |

No. of Students

Present

What is the difference between the

maximum and minimum number of

students present?

(A)
(B)
©)
(D)

70
80
75
65

NSt It gad st 32
(A) ¥ 18,000
(8) ¥ 12,000
(C) % 16,000
(D) % 19,200

fea ge3 €6 A3 9 Iwa
fefenrger @ farest § &3 @
g9 g2 fEu egmfonr famr 3
o9 9 T Ml a3 w3 I

&3

yrs T €339 el

No. of Students
Present

200
150

100 “iso“lgof“’iSS”“if“

50

N A N S e

D B B B B B

0(\6 \)0,_)6 Q@,,b O@b ‘é\b o 5
A Q,b &

g fefewrggn & <g 3 <g w3
W F ufe farest &g nizg fda 32

(A)
(B)
(©)
(D)

70
80
75
65

———————————————————
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Q51

52

A can do a work in 30 days and B in Q5]
45 days. If they work on it together,

then in how many days will the work

get completed?

(A) 25 days
(B) 45 days
(C) 18 days
(D) 90 days

The ratio between the ages of Ram, (52
Ramesh, Suresh and Shyam is 2 : 7:
8 : 12. The sum of ages of Ram and
Ramesh two years ago was 50 years.

Find the present age (in years) of

Ramesh.

A) 42
B) 47
C) 49
D) 52

A f8a s & 30 fes g w3 B €A
aH § 45 feas' 9 a9 Aaer I A
€39 fis & fen & § < TS, I

I & feat i yar 3 Aam
(A) 25fes
(B) 45fes
(c) 18fes
(D) 90 fes

I, InA, AIH W3 famrH & Gna’
TWNSUIT 2:7:8: 123 T A
yfgst gH w3 IAE Emff GHT T
A% 50 A® Hil IAF & TIIHG

———ﬁ
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EHg (As f<9) T U3 arg|
(A) 42
(B) 47
(C) 49
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Q53 Find the largest 4 digit number which Q53

Q54

Q55

is divisible by 41.
(A) 9981
(B) 9978
(C) 9991
(D) 9963

Find the overall change in the
quantity, if it is first increased by 40%
and then decreased by 40%. |

(A) No change

(B) 16% decrease
(C) 10% increase
(D)  14% decrease

A man sells one machine for ¥ 960 at
a profit of 20% and another for ¥ 480
at a loss of 4%. Find the approximate

overall gain.

(A)  20.1%
(B) 14.2%
C) 15%

(D) 10.8%

Q54

Q55

€9 I3 3 <3 4 wig' & Aftpr 3T

3 7 41 578 USa 39 ‘3 T I
(A) 9981
(B) 9978
(C) 9991
(D) 9963

H3g" fSg AHOl 3=CE € u3T
®sarg, A fer § ufagst 40% <arfemr
Aer 3 w3 fag 40% werfomr Jer
3

(A) 36 I=H! a1

(B)  16% wreT

(©) 10% =T

(D)  14% W

I8 wreat foa Wit & 20% &3 3 2

960 &g w3 ffa J9 Wills & 4%
TE 3 T 480 T 2T I WEHSS

Y %3 T U3T 33|
(A)  20.1%

(B) 14.2%

(C) 15%

(D) 10.8%

C————————————————————
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SECTION -

3

gdr-3

Q56 Identify the pattern from the options Q356 feawut 3 €7 fo39 T us= aI
faga fa i3 I8 degs § yar soT

that completes the given figure.

(A)

(B)

(©)

(D)

O

|

e Op

A

A®

4o
O

*

3

(A)

(B)

(€)

(D)

il

® A

—,

=
=

A O

O

 dl <

4l o

QP2-BB/31584
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Q57 Identify the figure from the options Q57 feawut 3 €n fo39 & us= ad
that completes the given pattern? faow fa &3 32 dess § Ygr o’
37

Wi AT b
. )\; S el
% .
/ N i 4
J >\ = <7 e
/ " ) e 9 y e
; “‘ _y,w\\:: )’ % L ey /h,y‘w
- [ >\ X
\ e ') » P 2 s, “; P o :AA(\ "
¥ - (“ | e
i - x ,I' ? *&A\ §
\ ' "
A . A /

P b §
o’ s # # " ¥
(A) [~ N\
. - - 1
(A) :

P T
*

(B) © Lol

©)
©)

(D)

(D)
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Q58 Identify the figure from the options Q58 fegwu® 3 €n fo39 T us< aI
that completes the given pattern? fAoF fa &3 38 degs § Yo ager

&7
T,
/\\ ” )

/ ‘ A

#
S -
#
%
i ’\) - !
\}
% i” o
R — b P —

(A) sl (A)

-y AT T
gt . e, S,
i s LY
P o %o, . i
A 2 ”*-J';E
“/ ’g"' v
", it ‘e e g
. A/ P "oy, < - -
" — » Mgyt g
- e w"*«, P
g " i

(B) (B)

o (©)

©)

e
,;.f "\K‘:"M
/,m‘_‘ ™ w"’fw”"" P
e b et
e : >
o
M \x\"’. ':i:: i
S - oy
Y ,:"“-w«.m / S e
> (D)
“‘x‘%‘f o

(D)
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Al s o

Q59 Arrange the following words in a Q39 Jst &3 I’ muer § WIaYIS

} meaningful sequence and choose the 3Ig3te &g feenfas ad »3 Al
correct order. H €t 9T F3I
I Letter 1. g
o Sentence 2 Td
3. Word 3. HET
4. Phrases 4 TIH
h Paragraph 5 Ugr
(A) 5,3,2,1,4 (A) 53214
B) 4,5,2,1,3 (B) 45,2 1,3
(C) 5,2,4,3,1 (C) 65,2431
(D) 4,2,5,3,1 (D) 4,2,5,3,1

Q60  Select the number that can replace the Q60 €7 Hftmr & BT a3, ° Js* &3t

question mark (?) in the following st e yas fidg () S & 3 wr
series. Aaet I

17, 23, 30, 38, 2, 57 17, 23, 30, 38, ?, 57

(A) 46 (A) 46

(B) 47 (B) 47

(C) 48 (C) 48

(D) 49 (D) 49

Q61 Select the number that can replace the Q61 €7 #Hftmrr € BT ad, 7 It &3

question mark (?) in the following 3 feg yAs ﬁgr; (?) T 8 3 0
series. Aae! I

63, 124,215,7?,511 63, 124, 215, 7, 511

(A) 289 | (A) 289

(B) 300 (B) 300

(C) 342 (C) 342

(D) 399 (D) 399

QP2-BB/31584 (Page 26)




Q62  Ritwij starts walking towards the west Q62
and walks 11 m. Now, he turns to his
left and walks 17 m and then he again
turns left and walks 19 m. He now
again turns left and walks 10 m. He
takes a last left turn and walks 8 m.
How far and in which direction is he
standing with respect to his initial

position?

(A) North, 8m
(B)  South, 7m
(C) East,8m

(D) West, 9m

Q63 Three different positions of the same (63.
dice are shown below. Which symbol

is on the face opposite the face

B) $
©) %

D) &

fasfen ven < g8 #g a9e I
w3 11 m T8 31 gT €9 wuE u
HITr 3 w3 17 m O @ w3 feg
¥ HF & 19 m 98T J1 gT €9
TH'I §] HFT I W3 10 m 98T I
GuwSt g A T I w3 8 m
geer 31 87 WS ggnrst Afa @
ffg ug I?

(A) €39, 8m
(B) THE, 7m
(C) USd, 8m

(D) U&H, 9m

Jot féa It A e S5 T
Afeo ferg g 951 ‘@' §
TIngT T8 gud © feout g8a €3
fagz fog &7

B $
© %

(D) &

s

QP2-BB/31584
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Q64

Q65

In this question, a statement has been Q64

given followed by two conclusions
numbered I and II. Assuming that all
information in the statement is true,
analyse the two conclusions together
and determine whether any of them
logically and definitely follow(s)
from the information given in the

statement.

Statement : Money plays a very

important role in politics.

Conclusions:

L. All rich businessmen are
politicians.

I1. No poor man is a politician.

(A) Only I follows
(B)  Only II follows
(C) BothIand II follows

(D)  Neither I nor II follows

Find the missing term in the Q65

following letter series:

ZWT, QNK, , YVS, PMJ
(A) HEB
(B) GEA
(C) HER
(D) GDB

QP2-BB/31584

for yns 9, f6g a56 Fame ©

fAe wAftr | w3 Aftmr 1 E3 I8

5| 9u% fSg &3t Al Asadt &

Y Hae I8, o2 fAfenr e fedfent

femdnas a9 w3 fsgofas a< fa

gt & faozr fier aus &9 &3

I FEadt © 399 HAs w3

forfos 39 3 use a9 J|

Fgs ;. Az @ awr gJ3

HI3<yaE gfvar fagge 3l

fire:

I. A wiilg =Tudt, farAsT
I5|

. J8 @ g welt f&q
fimmAses &t 3

(A) =S fier | yse aaer 3

() deH fieT Il BT IIv I

(c) w2 fA2 | w3 Il Use aIe
IS

(D) & 3 fider | &<t I UsE

Jae IS
It 31 wivg B R U3 UT
Y3 93
ZWT, QNK, , YVS, PMJ
(A) HEB
(B) GEA
(C) HER
(D) GDB

ﬁ

(Page 28)



Q66 Find out the missing number in the Q66 It &3 B 9 JUI Aftr U3™

Q67

Q68

given series.

13, 19.5,39,97.5, 7

(A) 1365
(B) 195

(C) 2437
(D) 2925

Select the combination of letters that Q67

when sequentially placed in the
blanks of the given letter series will

complete the series.
_nm_om_nmn_m_nm
(A) nomom

(B) onmon

(C) oonnm

(D) onooo

Select the letter-cluster that can Q68

replace the question mark (?) in the

following series.

CBYX, EDWV, GFUT, ?

(A) HIRS
(B) IHSR
(C) THRS
(D) HISR

QP2-BB/31584

31

13, 19.5, 39, 97.5, ?

(A) 1365

(B) 195

(C) 2437

(D) 2925

gt v @I AE gE A fa &3t adt

wyg BF e wE we K9
393ETT I35 3 B § YT AT
_nm_om_nmn_m_nm

(A)  nomom

(8)  onmon

(C)  oonnm

(D) onooo

€9 wg-AyT gE 7 I &St w3t
&g yms fdg (7) @ = 3 Al

CBYX, EDWYV, GFUT, ?

(A)  HIRS
(B) IHSR
(C) IHRS
(D) HISR

ﬁ
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Q69 Nikita ranked 84th from the top and Q69 fasal3™ fiyg 3 843 W3 31T fAug 3

Q70

Neil ranked 21st from the top. 20
students were ranked below Nikita
and above Namrata, who ranked
29th from the bottom. Find the total

number of students.

(A) 132
(B) 131
(C) 133
(D) 130

Which of the following answer figure

completes the series of the question

figure?
OIAIAO|AZ |
—13] |~ |~|©
S| A

w |~
ANEE

o
A —

o |7
Al—=

m>‘©’@

Q70

21 AEs €3 I 20 fefewasH
fadizr 3 It w3 sHI3” 3 €ua
A%, Afa 357 3 292 A €3 IIt

fefenrgsn € 98 Aftpr U3 331
(A) 132
() 131
() 133
(D) 130
I+ fefawr 53 ot €59 wifsgsh,
yrs wgst & 53t § yat a9<t 37
BRREREI
RIS

IR AN
O L

AN LT
(B) i

A —_—
©) ECP
(D) ECFI

QP2-BB/31584
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Q71

Q72

Q73

Find the missing term in the Q7]

following letter series:

OPQ, RST, UVW, XYZ,

(A) OPQ
(B) ABC
(©) ZYX
(D) CBA

If P+ Q means P is the sister of Q;

P - Q means P is the father of Q and
P x Q means P is the brother of Q,
which of the following means that
Z is the son of A?

(A) A-ZxM+N
(B) M-Z+AxN
(C) A+Z-MxN
D) NxZ-A+M

Pointing to a lady, Ram said, "She is Q73

the wife of the son of the only son of
my mother". How is the lady related

to Ram?

(A) Daughter

(B) Daughter-in-law
(C) Sister

(D) Mother

Jat 31 wiyg 331 R sUs UT
U3 I3

OPQ, RST, UVW, XYZ,
(A) OPQ

(B) ABC

(CF 2%

(D) CBA

AGT P+ QT WIH, P,Q T 3 ;

P-QE WadH, P, Q T fusr g w3
Px Qe WJdH, P, Q € 33 d, 3
It fofan f&F farer wgg 3 19 2,
AT Y33 I

(A) A-ZxM+N

(B) M-Z+AxN

(C) A+Z-MxN

(D) NxZ-A+M

foq Hfgw' <@ femrgrage JBIH &
faar, "@g ASt ¥ @ fead3 U39 ©
U39 T u3dt 31" Higs™ T TH &8
at fars 32

(A) §t
®) &9
(c) 3=
(D) W

QP2-BB/31584
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been given followed by two
conclusions numbered I and IL
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s) from the

information given in the statements.
Statement I : Some roads are rails.
Statement II : Some rails are land.
Statement III : Some land are sea.
Conclusion I : All road are sea.
Conclusion II: Some land are road.
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows

(D) Neither I nor II follows

QP2-BB/31584

Q74 In this question, three statements have Q74 fem s <9, f35 aua’ I ame @

A2 #Aftmr | w2 Aftor 1| £33 @
I5| FEe o &3t At Areadl &
Ao Hae I8, °F fifeow e fedfonr
femdne a9 w3 fogufas a3 fa
I FESSt @ 399 HaZ w3
forfaz 39 3 uge a9 JI

IES | : IY AT, I8 TS|
JES || : 9 IF ,JAHIGT TS|
TES |II: IF THleT, AT 51
fieT | : I AFE, AHTd 95|
fAer I1: 9 Wi, AFAT I5|
(A) des fieT | Use a9 3
(B) aAes fifer Il Use age I

() T2 A2 1 3 I UsE IIe

J6

(D) & 3 fider | &d I UzeE
gger J
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Q75 The given Venn diagram represents Q75 fé3r dfewr 25  fg39(venn

Q76

who

Maths

the students study Physics,

Chemistry, and Computer
Science. Identify the region which
represents students who study both
Physics and Maths but NOT

Computer Science and Chemistry.

B |
AT N

Computer
Science

(A) E,L,M,I

(B) HKM,I

diagram)3f3a  fefamis  (Physics),
grrfesa fefamrs (Chemistry), IIfeE3
(Maths) w3 dfu@eg fefomrs
(Computer ~ Science) UJS TV
fefenrgdvd & wamger 3 On
d39 & veT ¥ faow fa €%
fefenragsin & eamge 3 frod fa
3fza fefomrs w3 aifes ©F uge
I5 ug dfuged fefamrs w3
grfesa fefomrs adt uge|

; e
W A

> \ Chemistry

£ L g
Maths KA (K/&/LQ M)fo c

Computer
Science

(A) ELM,I
(B) H, K, M,I
(©) I,MK
(D) <d=TBE

(C) LMK
(D) OnlyE

SECTION-4/ I91-4
Qe wEE T A wieeH vaeT Ji

(A) Advance
(B) Earned
(C) Advancement

(D) Advent

O ———————————— S S
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Q77 Select the most appropriate ANTONYM of the given word. TWISTED
(A) straight
(B) coiled
(C) entwined

(D) distorted

Q78 Parts of a sentence are given below in jumbled order. These parts have been labelled

as P, Q, R, and S. Arrange the parts in the right order to form a meaningful sentence.

toys in the shop (P) / the little boy (Q) / to see so many (R ) / was very happy (S)

(A) QSRP
(B) QSPR
(C) RPQS
(D) PSRQ

Q79 Read the following sentence and identify the part that has an error.
The children / have gone / to é hill station / with its parents.
(A)  The children
(B) have gone
(C) to ahill station

(D)  with its parents

Q80 Select the most appropriate SYNONYM of the given word. AVARICE
(A) greed
(B) capacity
(C)  generosity
(D) wealth

_——_——#————_
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Read the following passage carefully and answer the given questions from Q 81 to

Q85

The means of payment that exists in purely electronic form is called ‘digital money’.
Electronic money or digital money is not tangible and is accounted for and the transactions
are performed online using computers. Digital money can be exchanged using credit cards,
the internet and smart phones. It can also be turned into physical money like in the cases of

an ATM.

People being what they are get practical about creating their own currency as long as
it is honoured. In Africa, sea shells were used until the 19th century as money. But gold -

practically useless but known for its short supply and lasting quality - has been the most

popular non-currency form of money and is standard for central banks.

Now, in the age of the internet, and digital technologies, money is undergoing an
exciting makeover with talk of virtual currencies, mobile wallets and software applications
that pretty much do what gold has been doing for centuries and currency notes have been
doing for a while. Technologies such as near-field communications are being used to make
the ‘mobile phone an instrument of payment without the customer having to sign a credit

card voucher, thus making it more secure.

In general, software applications are being developed to substitute for money in
various ways. Some companies like Starbucks allow ‘digital tipping” of its baristas through
a mobile application. Pre-paid cash cards are being used to swipe instruments where
customers do not need credit cards or even bank accounts. The Next Gen ATM machines

will recognise your face through facial biometric technologies.

Bit coin, the most popular virtual currency started circulating in 2009. Its current

market value has been estimated at around 8 billion, to 80,000 transactions occurring daily,

ﬁ
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according to reputed accounting firms. However, Washington’s Internal Revenue Service
ruled that bitcoin are not currency but more likely property - and thus subject to capital

gains tax.

Meanwhile, other virtual currencies are taking off - and influencing politics. In
Iceland, which saw its banking system more or less wiped off, during the 2008 global
financial crisis, there emerged the euro coin, a new currency now estimated to be worth
11.37. This currency is aimed at fighting capital controls imposed by the Iceland

government.

Crypto currencies are a very important milestone in this fight for liberty from
political control. They bring the hope of a new era of free currencies immune to the
meddling of politicians. In addition, money is undergoing an exciting makeover through
innovations  galore. Telecom 'companies the world over; for instance,
with support from their central banks are offering customers 'mobile money' as a service.
Another innovation that is much talked about is the mobile wallet and companies are
helping their customers carry the equivalent of cash in their handsets

much like one carries travellers’ cheques.

Thus, more and more practical solutions are beings spawned across the planet to
focus not so much on money's 'store of value' but as a medium of

exchange.

Q81 Choose the correct synonym o'f the word ‘Meddling’.
(A) Heedless
(B) Interfere
(C) Isolate

(D) Inattentive

ﬁ
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Q82 What was used by people in Africa as money?
(A) Metal coins
(B) Sea shells
(C) Marble balls

(D)  Currency notes

Q83 Which currency is used as a weapon to fight capital controls?
(A) Euro coin
(B) Bitcoin
(C) Doge coin

(D) Lite coin

Q84 Which technology uses phones as instruments of payment?
(A)  Starbucks
(B) Near-field communications
(C) Internal revenue service

(D) Next gen machines

Q85 Which of the following has traditionally been the most popular non-currency form

of money?

(A) Gold

(B)  Vouchers

(C) Mobile wallets

(D) Cash cards

_—_ﬁ
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Q86 ‘Imaginary’ WHT € Al UA=l waee Ji
(A) HIBY
(B) foguz
©) TBfuz
(D) fHa=va

QQ Q87 I fefemyt &9 ¥ w=e g2

(A)  yar
(B) ur
(C) ur
(D)

Q88 ‘B &g T2 U@er Hu=3 T wIH AUHE 3|
(A) @ IIE
(B) oaAS II&T
(C) e aI&
(D) ue<g3sE

Q89 A3 R 35 A WHE § YIT S|

(A) TIe
B) fimrg
(C) wmt
D) =

ﬁ
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Q90 ‘€9 ' i’ ufgses U JI9¢ I, B8 foa AT g2
(A) AT
(B) HH®E
(C) T

(D) e

s fe3aeB s fmraas U w3 Y91 Iy s 3aS @39 el

fifg gg< 89 T939 fag3'3 T HISTUTs JU I&| AHT T Htmi JT AEr
firgt 89 s & wEed Igem 35| fifg T AaH yde fefsora s feg dfenr dfenr
T JI AT e @ He feu Yfaasa SdnT 3 @A @ yIre § AeT @ e sod e e
ﬂé?@ﬂﬂﬁﬁiﬂ*?@?ﬁ&ﬁ!ﬁﬁlﬁ»@%?’@?»{#ﬁﬁﬁ»ﬁ?ﬁﬁ
@m%m?méﬁémuﬁa#ﬁ,w,wﬁ,w,#?%

wife § Sefanr @ gu feg yae wds a3

Hé&ﬂghaguﬁvmﬁeaa'amgﬁﬁ*wmélfm
ﬁnﬁﬁmeﬁswfzaﬁwﬂvjﬁé@awné’wgﬁaguﬁvmeﬁmjﬁ
3 3¢ go fifs @ gu feu @3Us It I fom s fat & mrw @ mifaa W6 §
m?wgm?mmﬁwajﬁnﬁmlﬁh*wwj@ﬁ

FreaTe, weg 3 fered T dlg €3 GRah Je I5|
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Q91 iy IE< fIH T HIITYIS JU IS ?

(A)
(B)
©)

(D)

g T

wBfad a3t

B9 o934 fagsz ©
Yfaa3« IIA™ &

Q92 fifgierst I9A 3 ?

(A)
(B)
(©)
D)

fefsgra Ao € wares! a9at
8a § 3IGT

B Ales T w8l a9&7
Suda3 fed I8t &t

Q93 ferdd v fAgdY I

(A)
(B)
©)
(D)

fifet & yfagst w3 g™
I T AGH

fHat w3 e

§6 T fAgreE

Qo4 fite = FoH av w3 fad I 2

(A)
(B)
©
D)

wBfaa A3 € 39 &8 1982 feg

Ugg war feg

eg<l At @ w3 feg
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Q95 FHfTE HE & H'eE T IIA War it i 3 2

(A) fie

(B) Tdtee3

(C) wfgweg

(D) Y& 3HIA

SECTION - 5 IIr-5

Q96 To which generations of computer Q96 ENIAC dfuges & fagdt Wi &5

does ENIAC belong to? Aefas 37

(A) Second (A) T

(B)  Third (B) S+t

(C)  First (©) ufgst

(D)  Fourth (A) =

Q97 Which of the following is the Q97

function of a browser?

(A)
(B)
(©)
(D)

Compile HTML Code
Interpret HTML Code
Pre compile HTML Code

De-compile HTML Code

T J9H &7

(A) HTML 33 & SUEIS IT&"
(B) HTML 33 ¢ fEeayec ag&"
(C) HTML 33 & J-duels a3
(D) HTML 33 § S-AUES I5&"

QP2-BB/31584
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Q98  Which of the following pair of device Q98 J&* f&fant T 1‘3'@1‘9';[.1{5[13 v

- type is correct? fagg Az At 7
L. IVR - Speech Recognition I IVR - A9 uaTs f3efen
Device I ATM - fe8aSfaa a3
II. ATM - Electronic Card
(A) fAgg|
(A) Onlyl
(B) fagz i
(B) Onlyll
(C) BothIandII | © 13
(D)  Neither I nor II (D) &I

Q99 Which of the following is a workbook Q99 MS Excel 2019 f&g, I&* fefamwr &g

view in MS Excel 2019? fagg foa Tgada fe@ 37
L. Normal b BIHS

II. Page Layout . Uq 3wge

(A) Onlyl A) fAsz

(B) OnlyII , B) fAg=1

(C) BothIandII ©) 1w

(D) Neither I nor I1 D) &I iadn

Q100 In MS Word 2019, is used to Q100 MS Word 2019 <3, o =33
find the end of a document. THI=H T W3 3¢ U di3t Al
7

(A) Alt+End
(A) Alt+End

(B) Ctrl+End
(B) Ctrl + End

(€)  Ctrl+ Shift + End (C)  Ctrl + Shift + End

(D) Ctrl+ Alt+End (D)  Ctrl + Alt + End

T ————————————— e
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Read the following instructions carefully:

35 €an gerfest § fims 8 uF:

1.

10.

11.

Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can
not be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as

these are printed on Test Booklet.

Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or

Center Superintendent.

The ‘candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over
OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

The Candidates are required to submit the Test
Booklet to the Invigilator after the exam.

Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

1.

Hie 3 a8 78 uniféc J6 55 ae8 e feasu § €39 o o
I J| Bz 79 fdez i3 I@ €39 § sefonr adf 7 Faer

Siteeet § fog walldl s=@e gder I fx €39 Hie it & IR
Sitees § €39 Hic '3 feus-Gtw I & foms ot Barger
gderl Oiieeg § Ehwg €33 Hie e fogass e 3
oz T I3 & wuer I3 59 &4t fode grde)

gaBe A fauE =3t 7 2rc gade 3 8l IR Is|

f&aars eurgr Hat e 3 GHieRT § wuE T 198 fedger
I

fsaes A dvg @ gudde 3 feRm wiiamr B2 fawt, I &
Srireeg wUE Fre/\ffimr 39 adf 83 AT /AT |

fees § wet It Fie 3 IESHT i3 faet w3 €39 Hie
363 fourars & A fast iftmr I8 3 Tra9 7e & wifomr &t
3

Vofis /fedadfoa/ Nons Isaded & 233 a96 o Ho'dl I

Yiftmr g5 &9 8J6" © wrgge © A g e Uae yfer
IIH 997 © AS foud W3 fefem wits J=at| Wefes a1 2
A HHfEw & 9931 993 © fom w3 fefsmt wigrrg fouerfanr
AT

Yiftmr w34 JT 3w, Sifees e g €39 Hie,
HAST 39 O anft fadgs § TuR F3ar/aeet| feaes 28
ST & Gxhiwg andt fiss 3 gme It ffeea ffunr o8
&3 Aae I

10. 1fiferr 3 wmre Qiifeeat § wrudt 20T Hade faaras 38 My

FoTgE JEt

11. fusat ffimr fiige @ s I2 3 24 uifens 2 wies-vies 333t

Iges €3 i gefent et yres U39 Qussa J=aT|

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.
&< Agg Uarst s €w gerfest feg A8t @ wizg urfewr Arer 3 37 wieds s T8 gerfes yrea I




